NOTES:
IMPERIAL METRIC
1. MAX. ALLOWABLE OPERATING PRESSURE ( MAGP | = 10 BAR ( 150 PSIG |
2. WARNING - SEE ROTORK INSTALLATION, OPERATION & MAINTENANCE MANUAL THREAD SIZE “A" 1/2-13 UNC M12 x 175
BEFORE MOUNTING, INSTALLING OR SERVICING,
3, SPECIFY SUPPLY AIR PRESSURE FOR SPRING-RETURN ACTUATORS, THREAD SIZE "B" | 1/2-13 UNC M12 X 175
4 ACTUATOR SHOWN IN FULL CW POSITION, FLAT ON SHAFT SHOWS VANE LOCATION,
POSITION ( SPRING END / AIR START ). AR PORT SIZE | 3/8-18 NPT 63/8
5. SPECIFY SPRING DIRECTION , CW STANDARD. .
6. WEIGHT 2443 KG (5386 LB) TRAVEL
ADJUSTMENT 4 -
+5° FACH
DIRECTION
AIR PORTS SIZE SEE TABLE —— - ™ 4 <
_ ~ ~ ~ ~ ( STAGGERED ) -
24,92 o — S
| a 32786
2682 [38n] S L AN I [29Tnl =
[106in] ! —— : — 2
|| H C
NAMUR VDI / VOE 3845 /&Eﬂ p
— MOUNTING FOR \
SOLENOID VALVE {
— M5 x 08 —4 -
TO SPRING MALE
FEMALE SIDE OUTPUT SIDE
OPTIONAL MALE
SHAFT ADAPTER KIT
0 195 295 295 0,58
(118 in] [77in] [161in] (116 in] [216in]
- ﬂ%& T@EER%ELU\\;VESRWN - X THREAD SIZE "B" SEE TABLE =
© | | © "M" FOR METRIC VERSION TAPPED V25 [ 0.98 in ] |/ \|®o
ON 125 [ 492 in 1 BOLT CIRCLE 0.2
STRADDLE CENTER LINE _ (106 in]
80 131 P e
[3%5 in] /QLLE ®) [516 in] 1 (
8 S8 08 | — O [ ° 7
00 > = VoW, 8 8839
© G D © = I ) — = © & D348
N — \ =
| 5 0 © OPTIONAL MALE ST O
i ( SHAFT ADAPTOR o O : g
© © 5 © — ©
A/ 8 S [719n] % U_J DOUBLE SQUARE % ¢
o 3 0 © g 30 (118 in ) DEEP © © © ©
o9 7 ® o N B8 _ Q@9 ¢ ® > o
SEE NOTE : & © © [543 in] 4X THREAD SIZE “A" SEE TABLE © ©
CA®) TAPPED %25 [ 098 in ] @ - 0o
NAMUR ON 775 [ 305 in 1 BOLT CIRCLE
VDI / VOE 3845 T0P SIDE VIEW STRADOLE CENTER LINE BOTTOM
M5 x 08 MOUNTING VIEW
) o o Titl
0 KSEKAR KPRICE 04-AUG-2016 |DIM. 327.86 WAS 33712 (B6) rOtorl('® e e e e DA ARRANE;:;’:L”S — 1.30-%
C K SEKAR KPRICE 19-FEB-2016 |EXPLOOED VIEW ADDED IN SHEET2 ROIODI“k DD[[H; |n|:[.j ﬂn?hmusT @ G F— [MPERIAL / METRIC AIR PORTS & MOUNTING HOLES
not De reproduced elther i
B K SEKAR KPRICE 14-JUL-2015 | DESCRIPTION UPDATED Dol Texas - ush 0L AL [ SR TN 20E | oraving Rumber Rev
' In respect or parents,
A K SEKAR K PRICE 12-JUN-2015 | REDRAWN: SOLID EDGE 30 rotorkcom designs and copyrigh are. | Checked SSUDHIR 2o | 0000000212 0
Rev | ECN |Revised Approved Date Change Description ' ' reserved. © 2015 Approved KPRICE R-JN-205  sheet 1 of 2 |[Size A3

Rev C

1 | 7 | 3 A | 5 | 6 7 | 8




<< [aa J (] Ll L
ol |
oz
(%]
-
m
= s}
(R )
= [e @)
=
=
=
[a=)
= .
~N
(%] o
« —
=
[e=) ~
o-
(a4
= N
= | &s
oz
& ) |
L @
= mOZ
o S O
= |E O
L= o
o .mo.‘nlL
TE |z Oo|E
o o S g
ELCE (2 Ola
= x =
slg|8
5 N
m_._)A/_n/__ I—
£ A =| =
ANEHE
—| Sl
S| g|s
(<5}
M.WS
=l =
=
<C
("4
=2
— =y,
¥ == .
= A S
[ =~ | &
(S )
(<5}
(=N
>
= =)
g 2|28
5 Tkm
5 Sla| &
2 EhD
3 El2|5
=} S
— - DO
= 242 &
E _Egs 9
Efd..'n’nblm
E2555¢5
cWWJﬂ.ﬂAE.HS
UF_LE.mw1
CEﬂEWﬁD.OO
25,3 E 2N
i = =
WDMWDOM@
|nc_uw».|.‘_U.UAHm
WhDrOESE
o = g
Se¥E Y2352
SergzgEE
S..U.WT.W.I%%'
£ES5g8esc=g¢d
®
3
oD m
r ! g
v Xz
2 &
< ©o
v o
— =
t o
8 W ILn
g
=
0 [=)
p — =
-
-
—

J A3y




